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R4 AT%.: 0014833 AL :0 ¥23 R : B
(D )T BT » dRf R BT
(D RS £ (OFFF§£ D)t =g 4w

Fhe38550:0014834 25w 0 5 B o7
(B U 7% 57 i Ak Tphid 4 & w9

(Dbt F (B ki if (Ofbikend]s] (D) &2 B¢ izl
B 448 50:0014835 gl 0 ¥k R 0¥
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(C )9 priken®d i ¥ AAZR SR g, H FRePR FEL
(DA B)FE2F O#FLZEBF D)2 & # H3 Mk
B 448 5:0014836 g0 2% & o ¥
(D )I120 & v * Kk .
a) @ b) %> w
C) TR
(Ma f= b 24/ (B)b fr c 24/ (C)a fr ¢ 25 (D)a, b v ¢ 2" I F&

B 3850014837 480 5 R0 @
(D )12l A %F A AtedfTpre Rt - £ 4. H4 5.

a) # 4 b) =& 4
c) =4 d) Fyd 4

(A) #®a, bfrct 72 (B) &b, cfrdt #2 (C) ¥a, cfrd #/2 (D)a, b, cfrd 2 & F&

b 4250014838 fE 0 ¥ % B 4

(B )12 L BRF H&*argf ki
MDA ELEN  BEANE2EEN L (O E2a % Dt - BFX
T

B 4-3850:0014839 420 2% R .7
(B )123 % ¥ 7 BE $h(Seesaw axis)# B # #h(Flapping axis)d»& ¥ & 3t
(DA 2 B2rA;E Oz 2 (DANE 2 & X

e 38550:0014840 25 w0 5 B ;7
(¢ )12t 487 (Lead) 2 4815 (Lag)$ (el i & H4F 0 4 %% 3
(DR (B)sEF @ (OHE (D)Ev -85 fsa

B b 8885:0014841 2220 % R 2
(D )12 e F ¥ &
a) ~ b) &% c) A & Hit
(Ma fo b 27 (B)b fr ¢ 4z (COa fr ¢ £ (D)a, b fr ¢ 2" E F

B 4eAE55:0014842 350 ¥ % B ¢
(C )26 § 2 FE R EREAG, E F BRI F & 77
(MD#F 4 e B)#iEa? OETg D* ZERFERLAE

b A85:0014843 35 e 0 25 B ¥

(A DI2T BV PR R E 2 TR E 2 IR G
(D) BT FRIN e adf § R 2 kB EE. (BT ¥ 3menif § et
Bt Fme k@ EE. (O AT RNl G RE i # - ke, D
BT EFAI e B ft E RN R e i

4

R 3850014844 3.0 35 B¢
(B )128 S HEF A B /A F° enleid ¥ & 70 vigFiE?
W e Bzl OTFe Dk

B4e4250:0014845 g w0 2 s Ao
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(D 129 &E f e FHRT EREFHARRA?
a) A b) %R Rizat c) £EH
(AME c 2/ (B)b frc 242 (Ca v c 4/ (D)a, b fr ¢ E Ay

B he3850:0014846 3220 ¥ % & . ¢
(B )30 FAT5 R Fsf /e, REE LB F BHFENE, LFLATRELS F G I ERE ARG
w9
(Dt * Poki s k. (B » FrRARE AL (O » gormpang. (D)7
BEHFEZRAERE

3th

4o B8%.:0014847 %5 w0 ¥E B %
(CHBL 54T kg ¥ P BT ATR I L GiERY E G o
DF st BEAEFE (OFEFIE DO ER5F

F4oB8%.:0014848 s w0 % B ¥

(A )132 ¥ ¥ ¥ (Blade alignment) 2 & & & fw ¥ ir 2 M ent 2B 1% o
DEcgd R4 BEcEEFEREYw (OEwBEPERY ¢ (DiXF - BE%

E Ly

b k850:0014849 fE 0 25 B 4
(CH133 THNER A ERFMAERETH o
(A) # ¥ 5 (Chordwise)# i T = (B) ™ ¥ & (Spanwise)# & T (OF kB ¥ EHL
T D FEREFL TG

F 4 %8%55:0014850 420 ¥ b R ¥
(B )13 - g F k¢ FRTGrangid, VD Bh- 2 E D OREGAIBE S 7
M= Bak Owp D)w

AN

F 4o 88%2:0014851 % w0 % B ¥
(C )13 g FlF AR 2 ga)hi 77
(DAzd (B (O@EREE (D)* L §

4o B8%2:0014852 % w0 % B ;¥
(D )I36 H>EH e g 4 jrbchfiis #7
(DA B)&f (O2r 5% % (D)* T i
R4e48%5.:0014853 42w .0 ¥ R %
(D OIBT B BA 3, EEHPRT A S a) MRS b) MARE  c) ¢ 4R
# d) BAEERD e) AL F =P
(A) ®a, bfrct 72 (B) &b, cfedt #/2 (C) &b, ¢, dfrel /2 (D) ¥a, b, cfrd i &
B b8 50:0014854 Az e .0 2% R %
(C )I38 8 e, e W ehded ¥ % A 5
(DEw it B)Fwire (O wicd (D) - BESIm
Fo 4o %8%55:0014855 4g w0 ¥ s B¢
(CHI39 Frodrdeng 43 § &2 fawmBiing Bo
(Mg B4z (O g (D)# LEF

B 4-38%50:0014856 40 2% A7
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(D 140 £ H & T E 7 5 a) &5
1% % C) kE stk
d) T T e) wH Mk
(Ma, bfrc 72 (B)a, b, cfrd #2 (C)a, b, cfrel £ (D)a, b, ¢, dfreft it 42

B 4o k855:0014857 48 0 2% R 5
(C O Az #u(Tracking) B 4ofe b, o T4 7 & Ffic i P A8 9
Wt BT (OF Bz (P8 Dty - BERLMA

4o AE5L: 0014858 AEke:0 ¥ B ¥
(CHMU2 % S P2 M &N EF R * S BB AN § a5 F E ¥ ehvi— e chfs (£9
(AMDE2 the (B kT tne (C)4g+ 481s tme (D) %idhs

F e AE50: 0014859 AL 0 % & 5
(CHM3 -~ BA»TNEHEE T2 E P - B e ? PFENEEH b H 5 FARE?
(MAz# (B (O i (D4R

B o BE52:0014860 450 5 B 5
(B )44 ¥ p &g g 4ofe pF) (53198 ¥ (Retreating Blade) =% iffﬁ’ g A2?
(D> (B> (Odz# (D)4

B 4385500014861 420 3% B3
(A)HM5 Fp B doimps, 2 4 hg 2 873 L0 adde B aftE o
(D> (B)@E» - (Odgd (D)4gf

B 4e4250:0014862 A w0 s & ¢
(B M6 pogaEgad X HfHF? a) E8PpaEid DbDEIHE OIARA
®RER
(Ma = b 272 (B)a v ¢ 2 #/& (Ob fr c 24/ (D)c fv d & 4=
b A850:0014863 450 2% R0 5
(C )47 3_71;%;31*#7341\: 3 \:)’Kyfﬁﬁ i\‘.d ?
(D4 F 3 B)sk4 £ (OF4 &%d ¥ (DA-REFELF Kz g
B 3850:0014864 450 2% R0 5

(A )48 -kT % %4 (Stabilizer bar)F & = = @ f&-T 74 fg i3k (€ pF e ig o
DFEFLETFE GFLETHF OFEedLIFE D)2 7 £

B4 A2 50:0014865 A0 ¥ A2 5

d

(A 149 ¥ # % (Dampener) e (i3t 4ofe fF > & LR E BB cnif iy F R R a > @ 5 @R

TR %E o

Dx 5 B (Of? D)Erfmsg

B e 3850:0014866 450 2% R0 5
(B )150 ¥ % (Dampener) e (¥ >t 4oie F > ¢ HRE B ifir F R S £

Gk % o

D= B)=A (O (DHiziwiFiniag
B 442 50:0014867 g0 2k & 5
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( ¢ 151 > #](Cyclic control)® iT& i B H e ®>: a) w2 ~b) »+ ~c) @ »
d) wig~e) vt ~f) w7
(Ma fv b 242 (B)c fv d 2/ (Ca, b, c fvd 24/ (D)a, b, e fr { T4z

R 442500014868 35 0 ¥p% & 5
(B )152 A4 515 2 Bk i (Collective)fie B 7 - iz iEm(Twist grip) » # P &
*OREA
(MEBHw B)ilFaR ™ (OEB#Ha3A (DEBHOFHTER

4o 48%.:0014869 250 ¥k B %
(C )13 F AT cuip ® & si(Filtering systems) > "7 XY RiF5 B BHF 2 3 pF
ehidg 7 ?
DR 7 E BB 2 OFERE/EFLHFE DHELE
R 4e48%.:0014870 32 & °0 AR S
(C 154 ,.z@,e'; mrs léﬂ* i p@ 3 uiﬁ'zﬁ,‘ﬁ‘?

B 4-3850: 0014871 40 2% R .7

(B )15 a) el HBRpHE  @Eigsk RS kR kte B BB - b) &g
BLFL Btk RS fﬁ;l%/m ki L ERESSRE . ) BRE{RL B
Tk & BRBRS R RT Rk A EIR B NE P I Ak I FED

(Ma 72 (B)b 24z (C)c 278 (D)ix - BE 314

Fhe 38 50:0014872 g2 .0 2% R %
(D )156 =+ % ¥cen®E B Hiw g4 5 (Cycliccontrol ) A A pF » & Bw Sr R A P A =8 ?
M= =2>5% Bis>5 K (OztE=z-33K DY B2 x4 =%

B 4e48%5:0014873 250 3% B ;¥
(B )BT % F*itdck i FLpg @i THFhRFLZ P ) 2EIHFT, b RFHFLEAE, ¢
BITE R A @
(Ma e b 242 (B)b fv ¢ 4z (C)a v ¢ 4/ (D)a, b fr c 2 &

B he4850:0014874 450 35 B 5
(A )158 a) @# 45 (Transmissions)E_* &k ™% i3 & chid B U fie & ahid B o
b) @ # 44 (Transmissions) &_* Kk 4v 5| B crid & e & 2 F g B o
c) @& 45 (Transmissions) & * k' Mg F g R e &3l Fan@ B o
d) @ # 4 (Transmissions) E_* k3 4o e F g B e & 51 Fenig B o
o I P I FE?
(MDa 72 (B)b 252 (C)c /2 (D)d & &

B bo4850:0014870 420 35 B 5
(B )159 @& dh % (Drive shaft system) - 28 B¢ » X A ¢ B awia Bleit2 F? §
0 BE P AP gl DR ph i EE - BREE
(D3l EFexF 2B BilFedd a2 (OFdfpead2/F Dl - BExr
Fr

B 4-3850:0014876 40 ¥k A7
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(B )160 Pt s| & ps > vRip £y £ 0 i)ﬂ'“féli*r]ﬁﬁ“@”*ﬁ s 4 ﬁ ?“ °

(A) 7 # % (Free wheeling unit) (B)aé £ (O %ie* (D)% kil
4o B8%0:0014877 %5 e .0 5 B ¥

(B )16l a) 7 ## B(Free wheeling unit)¥® o3F @ 45558 >0 @ o @F 4% Spd 51 -
b) % # % (Free wheeling unit)® /3% 5| & 5pd B & 43 2 i #F 42 F b 31 &F -
c) 74 B(Free wheeling unit)v 3% ¥ Spds @ d: §5 v 50 @4 E Spde 51 & o
d) 74 % (Free wheeling unit)™ 3731 & 5ad: 6 fi v ic @ & @ 6 fa 55 2 -
R I N
(Ma 72 (B)b 72 (C)c /2 (D)d & 72

e %250:0014878 Ba w0 g5 B4
(B )162 % i B (Free wheeling unit) &k i7:id ¥ &_:
M=% B)p# (OFFdpd (DH)FHEp bk
448500014879 25w 0 5 B4
(B )163 % #h 7 ## B (Free wheeling unit)/aie ™ A= % » G p d 3l pr > VB2 E & i 67
MDixx¥ Brex¥ Orix¥orexd DXy - BEFFLm

B 4-3850:0014880 4g 20 2% R .7

(C )164 F/|Q@ﬁ§ﬁ'\méﬁ_€ B ¢ 7\37'3]@; E'l—-ﬂf\g }@ﬁﬁf ‘i%’ IF;’&K’}“’\?%&A?’ E’J’J(?
(D) & 45 (Transm1ssmn unit) (B)#&# % it (Drive unit) (C) % # = (Free wheeling
unit) D)z - B ¥ &/

B he3850:0014881 2o .0 ¥ % & . ¥
(C )165 a) 1k ke i (Sprag unit) AR 7 &1L * % & F (Free wheeling unit) -
b) i #e i+ (Spragunit) ™ g B o c) it
# e it (Sprag unit) e k p >0 g4 o
IR P FE?
(Ma ’f\f' b & (B)b ’f\." c i+ 72 (C)a ‘fr’ c 2xx (D)a, b 'ff' I i?giﬁ

B4R 0014882 4Le:0 ¥ B ¥
(A 166 F 22 B4sx5 % F K2 (Rotor brake) » #* %% X hvss Bl F2?
(D31 @b f (BB iay (O e ad (D)5 Feal

B4 4855:0014883 4g e 0 2% R 5
(D )167 * ¥ £ & (Rotor brake)eni®* § #* k?
(M3l & et g B izt (B)3HFMI ke Fizr (O3l FkadsraTizr (D)
3IEFRE D (5% Bt

R 4e4T55:0014884 5% 0 ¥4 A& ¢
(B )168 * % Heendk (TR € L4 H £ @ (Rotor brake)hid * » & F| 5 L8 ®itchit A% #f
®)?

(WEE B OHF D)t FRYLsm
R 442520014885 e :0 ¥ d A ¥
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(B )69 a) §ixf wEHB P A RF g A g FR 2 ey o
b) # 2 witid ¥ % X3 o py » 28 o
c) &LH ¥ SN o R  IE
PP 7
(Ma v b /2 (B)b v ¢ /2 (C)a fvr ¢ =42 (D)a, b fr ¢ 3};}5"&_,1/;'@{

B 4-38%50:0014886 4g 20 2% R .7

(AT a) fedeps > S HF g g7 H R TIRE FR2REP -
b) febops > wF i g AT FRBED IR FR2HEPF
C) kadepE o SIHEE AT RE R E DI e TR 2R .
d) pedopr > m X @R AT FRED TR E F R 2 RGP -

W IR Y
(Ma 72 (B)b 272 (C)c 22 (D)d & #x

B b B855:0014887 220 ¥ 5 B2 7
(D )IT a) 7 #& £ (Free wheeling unit)#ps » B B 8H#5 p & g £ 0 3 o
b) 7 i % (Free wheeling unit)>t42§ = m};.-ca‘n%ﬁzl{;gd fEiE 4 (B Ao
c) 7 & 74 % (Free wheeling unit)p # i 48 s > BB EL LT R ER o
iw I8 ;:mﬂ’h_r?
(Ma fr b 24/ (B)b fr c 24/ (COa fr c 5/ (Da, b v ¢ 2" I &

B 44T 55:0014888 45 0 £ % & 4
(CH172 a) Bl ¥ X EaXEP N m b > g ifrdRd o
b) %7 AmR G ENR £ AR BR KL E BT 2 R AT
4 ehje 4 ﬁ;t o
IR T FE?
(D a 248 B)E b 25z (Oa fr b 27k (Da fr b #7173 & 5E

4o 88%.:0014889 4w .0 % B ¥
(A )17 a) 2 #A & (Sprag mount) b iR 7 3% 4% k3B E % K phkeno
b) i+ # s (Sprag system)er7? § A F € B B s fivla FRFEES7 1
P ISP FE?
(ME a st/ BED 2/ (Oa fr b e (Da fr b $717 & F

B 4e3250:0014890 A e 0 2k &0 ¢
(D )14 a) Z#& % (Free wheeling unit)ep BB » A5l & 1 b opd % H ufse » Hiv* 4
pod g S s e
b) =% ¥ @ pRIRBE DY 22 HTAE -
I L FE?
(DF a 27 B)F b 24 (Oa o b 1z (Da o b 47 o7&

B 4-3850:0014891 A2 e 0 ¥k A %
(C )15 a) R4 Wi @ & (Transmissions) @ @ B F Bl k¢ o RS EHF B F & % Ik
NI
b) k- A E @ 5 (Transmissions) % e & 4y 71 2 ¥
P IR L
(D a 2fz BT b 2/ (Oa fo b 452 A (Da 4o b 487 & Fi
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BheA055:0014892 42500 3E % B %
(D )176 %ti @& #(Accessory drive gear) @ @ T 5| I it
) Wk
b) R
c) HEE R
(Ma fr b /& (B)b fr ¢ 248 (Oa fr ¢ 2/ (Da, b fr c 2#1 A&

F4o82%50:0014893 s w0 2% B ¥
(CHITT a) JEBRA R A kel ¢ it »;ﬁ‘"'@ I
b) M ERERE > BrFRAIrENFE gARFIEH -
c) s irEaih BEd 3 BEpht Foho
o I P I FE?
(Ma f= b 24 (B)b fv ¢ 242 (Oa fr ¢ 24x (D)a, b fr ¢ 2 3P Fe

R4e485.:0014894 fg e .0 ¥pd R %
(D )18 a) HFiFELP 5 Py A FTFEL o
b) FieEp enh - &) g e 77 LB PR iTUFIRE o
C) FiTEP chh - P FRIe 70 AAEHH -
P IE P FE?
(M)a f= b 24 (B)b 4r ¢ 24 (Oa fr c 2/ (Da, b fr ¢ 2 i

Fhe42%5:0014895 45 0 3% B ¥
(D )19 a) Wi A FRAM 4 F 4 322 - o
b) #1F ehjidp st 51?""3 BRYR BRIFLAIreaER
C) L ERF AW AN E L T R T o
P IE P /FE?
(Ma f= b 272 (B)b fv c 24z (C)a fv ¢ 24z (D)a, b fr ¢ 248 F

}%vﬁ;;%ji-0014896 a0 $fr RS
(A )10 a) fE BmsEpr  slEmi 4 & Ay e adf ey g o
b) wE Bipe Xpr . o g & LM -
P 78 PP i FE?
ME a st/ BED 2/ (Oa fr b e (Da fr b $77 & F

B4e4850:0014897 4.0 ¥ b R %
(D )1817 a1l ) ':’J,”&l?%fﬁji ”#? l V*V*%K(Buzz)}}t;&”i » H }:g_:i R F] % xQ
(D& ag (B) Mg (C)¢ 45 (D) B 4

FheA85.:0014898 dE e 0 s R ¥
(C )182 a) &4 (Collective) b iz 45 m (Twist grip) i%dp >t B & 57 % chjd ° >
S s (E S g E o
b) @ iEts (Twist grip)g riz§ £ &+ FEFEFRPI P4 7w o
P 78 PP I FE?
(D a 2/ BED 2/ (Oa frb e (Da fr b 7 L

B4e4250:0014899 A0 sk & 5
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(A )18 a) 31 & L 4515 » 4pRE & S
b) %%‘”%&m%g%% gBEH W o
38
(A% a JE/FE (B)& b tsx (Oa o b 352 (Da fo b 377 &4z

B 4-38%50:0014900 4220 sp% A %

(B )184 a)vé‘ﬂfau ’1??&@f&p%‘§lp&/{%‘3%mﬁvll—o b);é‘-ﬂlé
5 0 AR B EDR B AN chids (T o PP 1
FE?

(ME a 24/ (B)E b 242 (Oa f= b s (Da f= b "7 i 5/

R 4-A250:0014901 Age:0 £% & 5
(C )18 @ * & BAs b ksl &F
a) Pp* Jfb’r‘;‘;?s‘?éa(Turbo jet)
b) % AE % (Turbo fan)
c) #h3"E ¥ (Turbo shaft)
(Ma 2/ (B)b 24z (C)c 2/ (D)ixF - BEF R FE

R he32%0:0014902 {5200 3 b B %
(C )186 a)dhs' jE#53! & (Turboshaft engines)id ¥ p K- wdh @i £E - * k' MiF ko
i o
b)#h3¢ i #5| & (Turboshaft engines)™ £ % 4~ 5 E #hsS k& p d 3N iF# -
P 38 Zp I FE?
(D a tr/ BE Db 2/ (Oa frb wersm (Da f= b 87 L/

F4ek855:0014903 4220 ¥ 5 B¢
(A )18 a)p d M iE#E(Free turbine)s -4 @d &k p *2 i 0 @ 7 HEBEE -
b)E #hst E#3 #F (Direct drive turbine)s i & iF#h- > L F 2 8 P L * - #
i o PP LY
(M a it/ BE Db t/m (Ca - b j‘a’fiﬁxééi (D)a 4= b ¥ I FE

F4e%8%55:0014904 420 ¥k B¢
(A )18 ) f & Jdiens B iEMmATi * REFES > - bt (Axial) & g 3
(Centrifugal VR 45 % & & = - PR ‘fﬁ‘*“ °
D) BEFEDF - 30 B 3 SRS hit .
[ N 2N e
ME a st/ BED 2/ (Oa fr b e (Da fr b $77 & F

B b 325000014905 Az e .0 2% & %
(C )189 a)fh:* B 45 % (Axial compressor)en® — s d - w3 8- w3 oo
D) KR4 g i R TSR KA LRSS o
P I P FE?
(ME a st/ BE D 2/ (Oa fr b e (Da fr b 77 & F

B 442 50:0014906 250 ¥ 20 5
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(A 190 a)it » Wi eh & A% ke gTes s 2 frw o
b)it » ¥EF chg 5 W j\tﬂm ';u%

CiE > ’f“% 3';%7 EREENS

(2P i 2N

(Ma = F (B)b rrg (Oc 2/ (DX - BEFL M

4o %855:0014907 fE e 0 ¥k R ¢
(C)W1@&ﬁiﬂ?ﬁﬁ““&%di%@4%: 2119 e o

b) 3¢ ]5%5|‘§m5]?%]4’ﬁ74 L 24 & Bpl@ v

[ N

(M) a iEEE B)# b 24 (Oa fr b s (Da fr b 317 I fE

B b2 50:0014908 Az e .0 2% & %
(A 192 a)ipd sV iFE#(Free turbines)® # * 7 & i & : - B PRGEOEE - ¥ -
kike Pas SRR oRagt R U
b)# * fdhst s F e & > @ F MA B KR o 4t R Beihe
IR P I FE?
(M a 2/ B)E b 24 (Ca fob s (Da f- b %7 T4

R 4o 30550014909 AL 0 523 & ¢ 3
(A )19 a)p d Vi (Free turbines) @& > NIEN2# ¥ £ cf e 8 7 b ein o
D)k R R EEE R A Mg B E AT -
IR FE?
(DF a2/ B)E Db 2 (Qa fob Wim Da fr b 57 14

B he32%0:0014910 420 3% B 7
(D V194 31 EFRE 4 A F AP EE LR TR a) 3l
b) B RPEA P
c) “hRIE R F R
(Ma fr b 24/ (B)b fr c 24/ (Ca fr c 25/ (D)a, b fv ¢ 21 F&

B 4eB85:0014911 4220 3% B o7
(B )19 7 #cehE BB M5 oty r gt i & X84 &~ 3 & (Particle sepsrator) ° it
Bengs A wfad B3GR B Y
(D4 B4 (Oder 4 (D)4 4

e3850:0014912 25w .0 2% B0 ¥
(A )196 a) # A~ # E(Particle sepsrator)il ¥ {8 4w B o
b) # B4~ & E (Particle sepsrator) p # B B copF 8 £ 4 N1 3 3 7l % - @
IR S GEuN R
P I8 P I FE?
(ME a st/ BED 2/ (Oa fr b s (Da fr b $77 & F

(=
ks
W

B4 A8 50:0014913 20 ¥ 20 5
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(CH97 a) & *BAFEAFK AR F5 AP G2 F 4
b) %A glA ¢ FRBAEFEE 2 3 2e¥ o
PR FE?
(ME a t/ BED 2/ (Oa fr b 3t (Da fr b 77 &5

B he4255:0014914 A5 00 35 B 4
(B )19 a) - BiFRDBIGE § F3x- B D ITER
b) g Fenf inLrepr g HRA @ HIIHFLL o
P I8 P I EE?
(D a 2/ BE b s (Oafrb mim (Da v b 387 B4

4o 88%.:0014915 %% .0 5 B ¥
(C )19 a) & 7 Se sl HF b prande g PFRF > 5 BoenphsN RS H R 7 1 MM e A F
I T+ B, %o
b) izd & B 5IEF eiE Fﬁﬁ%‘f UER sl A
C) ATF ehipdt B end (T ¥ FRAURY R P g RS B0 Sk o
P 78 PP I FE?
(AMa 4= b 2472 (B)b v ¢ 4% (C)a fv ¢ 4% (D)a, b fr ¢ g0 AR

b A850:0014916 4500 2% R0 5
(CH200 a) % 8cd BaslEF > £ I R\ and 5 FingFihoiiEgs
b) g&ﬁ”ﬁ_ﬂﬁﬁ%?al?}é{ﬁ?wg;"".ﬂk’}\@’m'?if °
7B P I FE?
ME a trm BED 2/ (Oa fr b 3rEm (Da fr b 77 &5

B4e32 500014917 g0 2 &0 ¢
(B )201 iPIE P I Fx?
(AL F i b g Bapgb bz wigke QR E T o By g e egi®
i 2wk e SR AE T o (C)BEV B AVER Fgﬁé‘}i%iﬁiﬁg Gl s S
e (D)iLG - BERIA

B 442 50:0014918 330 iﬁt%’» i S

(B )22 a) % H# 43 > A B(Governor) ¢ & T M i » i@ F & b gt o
b) % FWiEd B o &?¢®wamﬂéﬁﬁJﬁﬁm%ﬁ’@ﬁgﬁﬁzﬁﬁﬁo
c) % BHELBF > i E(Governor) § B B IIAE ol > i@ F BT R o

GRI NN Y ¥
(Ma 272 B)b 2z (COc 242 D) - BEE2F
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(A )245 A way to detect a broken magneto primary grounding lead is to
(A)idle the engine and momentari-ly turn the ignition off. (B)add full power,
while holding the brakes, and momentarily turn off the ignition. (C)run on one
magneto, lean the mixture, and look for a rise in manifold pressure.

o 4e%855:0014718 fg e .0 ¥k R ¥
( ¢ )246 The most probable reason an engine continues to run after the ignition switch
has been turned off is
(A)carbon deposits glowing on the spark plugs. (B)a magneto ground wire is in
contact with the engine casing. (C)a broken magneto ground wire.

Fdek855:0014719 4220 ¥ 5 B %
( ¢ )247 The pilot controls the air/fuel ratio with the
(A)throttle (B)manifold pressure (C)mixture control

B 4o 4855:0014720 42200 ¥4 R %
( A )248 Detonation can be caused by
(A)"rich" mixture. (B)low engine tempera-tures. (C)using a lower grade of fuel
than recomm-ended.

4o %855:0014721 f22 .0 ¥ 5 R 2
( B )249 An abnormally high engine oil temperature indication may be caused by
(A)a defective bearing. (B)the oil level being too low. (C)operating with an
excessively rich mixture.

4o %855:0014722 420 ¥k R ¢
( B )250 Coning 1s caused by the combined forces of
(A)drag, weight,and translational lift. (B)lift and centrifugal force.
(C)flapping and centrifugal force.

F 4o %855:0014723 4220 ¥ s R P
( B )251 The forward speed of a rotorcraft is restricted primarily by
(A)dissymme-try of lift. (B)transverse flow effect. (C)high-frequency
vibrations.

4o 4855:0014724 fpe .0 ¥k R ¢
( B )252 When hovering, a helicopter tends to move in the direction of tail rotor thrust.
this statement is
(A)True; the movement is called transverse tendency. (B)true;the movement is
called translating tendency. (C)false; the movement is opposite the direction
of tail rotor thrust, and is called translating tendency.

B4 R855:00147250 420 ¥ b R
( c )253 The lift differential that exists between the advacing blade and the retreating

blade is known as
(A)Coriolis effect. (B)translational 1lift. (C)dissymmetry of lift.

B 4-3850:0014726 420 2k A7
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( ¢ )254 Most helicopters, by design tend to drift to the right when hovering in a no-wind
condition. this statement is
(A)false;helicopters have no tendency todrift, but will rotate in that direction
(B)true; the mast or cyclic pitch system of most helicopters is rigged forward,
this with gyroscopic precession will overcome this tendency. (C)true; the mast
or cyclic pitch system of most helicopters is rigged to the left to overcome
this tendency.

R4eR8%0:0014727 R e .0 ¥k RS
( B )25 when a rotorcraft transitions from straight-and-level flight into a 307 bank
while maintaining a constant altitude, the total 1ift force must
(A)increase and the load factor will increase. (B)increase and the load factor
will decrease. (C)remain constant and the load factor will decrease.

B 4o k855:0014728 420 ¥ E R 4
( B )256 The main rotor blades of a fully-articulated rotor system can
(A)flap and feather collectively. (B)flap, drag, and feather independen-tly.
(C)feather independent-ly, but cannot flap or drag.

4o B850:0014729 A w0 ¥k B %
( A )257 What is the primary purpose of the clutch?
(A)It allows the engine to be started without driving the main rotor system.
(B)It provides disengage-ment of the engine from the rotor system for
autorotation. (C)It transmits engine power to the main rotor, tail rotor,
generator/ alternator, and other accessories.

f4e88%0:0014730 220 ¥k B %
( ¢ )258 What is the primary purpose of the freewheeling unit?
(A)It allows the engine to be started without driving the main rotor system.
(B)It provides speed reduction between the engine, main rotor system, and tail
rotor system. (C)It provides disengage-ment of the engine from the rotor system
for autorotation purposes.

B4 A8 50:0014731 Age:0 sk 20 5
( A )259 The main rotor blades of a semi-rigid rotor system can

(A)flap and feather as a unit. (B)flap, drag, and feather independen-tly.
(C)feather independen-tly, but cannot flap or drag.

R4s88%.:0014732 s e .0 % B¢
( A )260 The purspos of lead-lag(drag) hinges in a three-bladed, full articulated
helicopter rotor system i1s to compenssate for
(A)Coriolis effect. (B)dissymmetry of lift. (C)blade flapping tendency.

B4e4250:0014733 A0 sk &R 5
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( B )261 The most unfavorable combination of conditions for rotorcraft performance is
(AM)low density altitude, low gross weight, and calm wind. (B)high density
altitude, high gross weight, and calm wind. (C)high density altitude, high gross
weight, and strong wind.

4o d8%.:0014734 25 e .0 ¥k B %
( A )262 How does high density altitude affect rotorcraft performance?
(A)Engine and rotor efficiency is reduced. (B)Engine and rotor efficiency is

increased. (C)It increases rotor drag, Which requires more power for normal
flight.

4o 48%.:0014730 22 e .0 ¥k B %
( B )263 Abnormal helicopter vibrations in the low-frequency range are associated with
which system or component?
(A)Tail rotor. (B)Main rotor. (C)Transmissi-on.

4o 88%.:0014736 220 ¥k B %
( A )264 A high-frequency vibration that suddenly occurs during flight could be an
indication of a defective
(A)transmission. (B)freewheeling unit. (C)main rotor system.

4o B850:0014737 A e 0 ¥k B %
( ¢ )265 Ground resonance is more likely to occur with helicopters that are equipped with
(A)rigid rotor systems. (B)semi-rigid rotor systems. (C)fully articulated rotor
systems

B4 %855:0014738 420 ¥4 R 2
(B )266 If the RPM is low and the manifold pressure is high, what initial corrective
action should be taken?
(A)Increase the throttle. (B)Lower the collective pitch. (C)Raise the collective
pitch.

R4e8850:0014739 A0 ¥k B %
( ¢ )267 During climbing flight, the manifold pressure is low and the RPMis high,. What
initial corrective action should be taken?
(A)Increase the throttle. (B)Lower the collective pitch. (C)Raise the collective
pitch.

B4e3850:0014740 2200 2% R0 5
( A )268 The most power will be required to hover over which surface?
(AM)High grass. (B)Concrete ramp. (C)Rough/uneven ground.

R4 d8%.:0014741 35 e .0 2% B %
( B )269 Which flight technique is recommended for use during hot weather?
(AM)During takeoff, accelerate quickly into forward flight. (B)During
takeoff, accelerate slowly into forward flight. (C)Use minimum allowable RPM and
maximum allowable manifold pressure during all phases of flight.
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4o d8%.:0014742 25 e .0 2% B %
( B )270 A pilot is hovering during calm wind conditions. The greatest amount of engine
power will be required when

(A)ground effect exists. (B)making a left-pedal turn. (C)making a right-pedal
turn.

4o d8%.:0014743 25w .0 ¥k B %
( ¢ )27l Which statement is true about an autorotative descent?
(A)Generally, only the cyclic control is used to make turns. (B)The piolot should
use the collective pitch control to control the rate of descent. (C)The rotor
RPMwill tend to decrease if a tight turn is made with a heavily loaded helicopter.

f4o88%5.:0014744 A w0 2k B %

( ¢ )272 Using right pedal to assist a right turn during an autorotative descent will
probably result in what actions?
(A)A decrease in rotor RPM, pitch up of the nose, decrease in sink rate, and
increase in indicated airspeed. (B)An increase in rotor RPM, pitch up of the
nose, decrease in sink rate, and increase in indicated airspeed. (C)An increase
in rotor RPM, pitch down of the nose, increase in sink rate, and decrease in
indicated airspeed.

F4o88%.:0014745 25 e .0 ¥k B %
( B )273 Using left pedal to assist a left turn during an autorotative descent will
probably cause the rotor RPM to
(A)increase and the airspeed to decrease. (B)decrease and the aircraft nose to
pitch down. (C)increase and the aircraft nose to pitch down.

B4 %855:0014746 fE w0 ¥4 R 2
( A )274 You are hovering during calm wind conditions and decide to make a right-pedal
turn. In most helicopters equipped with reciprocating engines, the engine RPM
will tend to
(Mincrease. (B)decrease. (C)remain unaffected.

R4 R8%.:0014747 350 ¥k RS
( A )27 When making an autorotation to touchdown, what action is most appropriate?
(A)A slightly nose-high altitude attouch-down is the proper procedure. (B)The
skids should be in a longitudinal-ly level attitude at touchdown. (C)Aft cyclic
application after touchdown is desirable to help decrease ground run.

B4 A8 50:0014748 A0 ¥k 20 5

( A )276 Helicopter gross weight = 1,225 1b, Ambient temperature= 77°F, Determine the
in-ground-effect hover ceiling.
(A)6, 750 feet. (B)7,250 feet. (C)8,000 feet.

B4eA250:0014749 A0 sk AR 5
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( B )277 Helicopter gross weight = 1,175 lb, Ambient temperature= 95°F, Determine the
out-of-ground-effect hover ceiling.
(A)5,000 feet. (B)b, 250feet. (C)6, 250 feet.

4o 8250:0014750 A0 ¥k B %
( B )278 Departure is planned from a heliport that has a reported pressure altitude of
4,100feet. What rate of climb could be expected in this helicopter if the ambient

temperature is 90°F?
(A)210 ft/min. (B)250 ft/min. (C)390 ft/min.

4o B8%.:0014751 %5 w 0 % B %
( B )27 Pressure altitude 4000ft, Ambient temperature 80°F to clear a 50-foot obstacle,
a jump takeoff would require
(A)more distance than a running takeoff. (B)less distance than a running takeoff.
(C)the same distance as a running takeoff.

4o B8%50:0014752 A0 ¥k B %
( C )280 Pressure altitude 4,000 ft, Ambient temperature 80°F, The takeoff distance to
clear a 50-foot obstacle is
(A)1, 225 feet for a jump takeoff. (B)1, 440 feet for a running takeoff. (C)less
for a running takeoff than for a jump takeoff.

4o d8%0:0014753 kw0 ¥p% B %
( B )28l Which maximum range factor decreases as weight decreases?
(A)Altitude. (B)Airspeeds (C)Angle of attack.

F4e%855:0014754 fg e .0 ¥ b R ¢
( A )282 Fouling of spark plugs is more apt to occur if the aircraft
(A)gains altitude with no mixture adjustment. (B)descends from altitude with
no mixture adjustment. (C)throttle is advanced very abruptly.

F 4o %855:0014755 4E e 0 ¥k B¢
(c )28 If the ground wire between the magneto and the ignition switch becomes
disconnected, the engine
(A)will not operate on one magneto. (B)cannot be started with the switch in the
BOTH position. (C)could accidentally start if the propeller is moved with fuel
in the cylinder.

4o 4855:0014756 fp e 0 ¥k R ¢
( ¢ )284 Fuel/air ratio is the ratio between the
(A)volume of fuel and volume of air entering the cylinder. (B)weight of fuel
and weight of air entering the cylinder. (C)weight of fuel and weight of air
entering the carburetor.

B 4-3850:0014757 dE w0 ¥k R ¢
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( A )285 The mixture control can be adjusted, which
(Mprevents the fuel/air combination from becoming too rich at higher altitudes.
(B)weight of fuel and weight of air entering the cylinder. (C)prevents the
fuel/air combination from becoming lean as the airplane climbs.

4o %855:0014758 fp e .0 ¥k R ¢
( A )286 The best power mixture is that fuel/air ratio at which
(A)cylinder head temperatures are the coolest. (B)the most power can be obtained
for any given throttle setting. (C)a given power can be obtained with the highest
manifold pressure or throttle setting.

4o %855:0014759 fp e .0 ¥k R ¢
( ¢ )287 What will occur if no leaning is made with the mixture control as the flight
altitude increases?
(A)The volume of air entering the carburetor decreases and the amount of fuel
decreases. (B)The density of air entering the carburetor decreases and the amount
of fuel increases. (C)The density of air entering the carburetor decreases and
the amount of fuel remains constant.

F 4o %855:0014760 420 ¥k B¢
( ¢ )28 Unless adjusted, the fuel/air mixtture becomes richer with an increase in
altitude because the amount of fuel
(A)decreases while the volume of air decreases. (B)remains constant while the
volume of air decreases. (C)remains constant while the density of air decreases.

F4e%855:0014761 fE e .0 ¥ b B¢
( A )28 The basic purpose of adjusting the fuel/air mixture control at altitude is to
(A)decrease the fuel flow to compensate for decreased air density. (B)decrease
the amount of fuel in the mixture to compensate for increased air density.
(C)increase the amount of fuel in the mixture to compensate for the decrease
in pressure and density of the air.

4 4855:0014762 fpe 0 ¥ b R ¢
(B )29 At high altitudes, an excessively rich mixture will cause the
(A)engine to overheat. (B)fouling of spark plugs. (C)engine to operate smoother
even though fuel consumption is increased.

o 4e4855:0014763 fE e 0 ¥k R ¢
( A )291 Which statement is true concerning the effect of the application of carburetor
heat?
(A)It enriches the fuel/air mixture. (B)It leans the fuel/air mixture. (C)It
has no effect on the fuel/air mixture.

B4 A8 50:0014764 e 0 s 205
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( A )292 Applying carburetor heat will
(AM)not affect the mixture. (B)lean the fuel/air mixture. (C)enrich the fuel/air
mixture.

e 38550:0014765 BE w0 5 B¢
( ¢ )293 The uncontrolled firing of the fuel/air charge in advance of normal spark
ignition is known as
(A)instantaneous combustion. (B)detonation. (C)pre-ignition.

4o %855:0014766 4R e 0 ¥ b R ¢
( ¢ )294 Detonation occurs in a reciprocating aircraft engine when
(A)there is an explosive increase of fuel caused by too rich a fuel/air mixture.
(B)the spark plugs receive an electrical jolt caused by a short in the wiring.
(C)the unburned fuel/air charge in the cylinders is subjected to instantaneous
combustion.

Fhe- 325000014767 g0 ¥R RS
( ¢ )29 Detonation can be caused by

(Aa "rich" mixture. (B)low engine temperatures. (C)using a lower grade fuel
than recommend-ed.

F4o88%50:0014768 f w0 5 B¢
( B )29 For internal cooling, reciprocating aircraft engines are especially dependent
on
(A)a properly functioning cowl flap augmenter. (B)the circulation of lubricating
oil. (C)the proper freon/compressor output ratio.

4o 82%.:0014769 A0 ¥k B %
( B )297 An abnormally high engine oil temperature indication may be caused by
(A)a defective bearing. (B)the oil level being too low. (C)operating with an
excessively rich mixture.

R4 8850:0014770 22 e:0 ¥k B %
( A )298 Frequent inspections should be made of aircraft exhaust manifold-type heating
systems to minimize the possibility of
(A)exhaust gases leaking into the cockpit. (B)a power loss due to back pressure

in the exhaust system. (C)a cold-running engine due to the heat withdrawn by
the heater.

B b 3855:0014771 4220 ¥p5 R 4
( ¢ )299 The primary purpose of the tail rotor system is to
(A)assist inmaking coordinated turns. (B)maintain heading during forward flight
(C)counteract the torque effect of the main rotor.

B 4-3850:0014772 g0 ¥k R P
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( ¢ )300 Can the tail rotor produce thrust to the left?
(AM)No, the right thrust can only be reduced, causing tail movement to the left.
(B)Yes, primari-ly so that hovering turns can be accomplished to the right.
(C)Yes, primari-ly to counteract the drag of the transmission during
autorotation.

B4e3250:0014773 g0 2k R0
( A )301 How does high density altitude affect rotorcraft performance?
(A)Engine and rotor efficiency is reduced. (B)Engine and rotor effciency is

increased. (C)It increases rotor drag, which requires more power for normal
flight.

B b k8 55:0014774 2.0 ¥ 5 B¢
( ¢ )302 The proper action to initiate a quick stop is to apply
(A)forward cyclic, while raising the collective and applying right antitorque
pedal. (B)aft cyclic, while raising the collective and applying left antitorque
pedal. (C)aft cyclic, while lowering the collective and applying right
antitorque pedal.

4o B850:0014775 kw0 ¥ E B S
( B )303 During the flare portion of a power-off landing, the rotor RPM tends to
(Mremain constant. (B)increase initially. (C)decrease initially.

T4 %855:0014776 4220 ¥4 R 2
( ¢ )304 Which would produce the slowest rotor RPM?
(A)A vertical descent with power. (B)A vertical descent without power.
(C)Pushing over after a steep climb.

R b k8550014777 4220 ¥ 5 B %
( B )305 As altitude increases, the VNE of a helicopter will
(A)increase. (B)decrease. (C)remain the same.

F4o88%0:0014778 A0 ¥k B %

( B )306 The antitorque system fails during cruising flight and a powered approach landing
1s commenced. If the helicopter yaws to the right just prior to touchdown , what
could the pilot do to help swing the nose to the left?

(A)Increase the throttle. (B)Decrease the throttle. (C)Increase collective
pitch.

R4 R8%.:0014779 R e .0 ¥k R %
( B )307 Should a helicopter pilot ever be concerned about ground resonance during
takeoff?
(A)No, ground resonance occurs only during an autorotative touchdown. (B)Yes,
although it is more likely to occur on landing, it can occur during takeoff.
(C)Yes, but only during slope takeoffs.

B4 4250:0014780 A0 sk &0 5
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( ¢ )308 When operating at high forward airspeed, retreating blade stall is more likely
to occur under conditions of
(A)low gross weight, high density altitude, and smooth air. (B)high gross weight,
low density altitude, and smooth air. (C)high gross weight, high density altitude
and turbulent air.

R4ed8%.:0014781 22 e .0 ¥k B %
( ¢ )309 During a normal approach to a hover, the collective pitch control is used
primarily to
(Mmaintain RPM. (B)control the rate of closure. (C)control the angle of descent.

4o %855:0014782 fEe 0 ¥4 R %
( B )310 When making a slope landing, the cyclic pitch control should be used to
(A)lower the downslope skid to the ground. (B)hold the upslope skid against the
slope. (C)place the rotor disc parallel to the slope.

4o 88%.:0014783 2.0 ¥k B %
( ¢ )31l What is the procedure for a slope landing?
(A)Use maximum RPM and maximum manifold pressure. (B)If the slope is 10? or less,
the landing should be made perpendicular to the slope. (C)When parallel to the
slope, slowly lower the upslope skid to the ground prior to lowering the down
slope skid.

F4eB8%5.:0014784 A0 ¥k B %
( ¢ )312 Leaving the carburetor heat on while taking off
(A)leans the mixture for more power on takeoff. (B)will decrease the takeoff
distance. (C)will increase the ground roll.

F4e%855:0014780 4E e 0 ¥ b B¢
( ¢ )313 If ground resonance is experienced during rotor spin-up, what action should you
take?
(A)taxi to a smooth area. (B)make a normal takeoff immediately. (C)close the
throttle and slowly raise the spin-up lever.

R4 48%.:0014786 d5 .0 ¥k B %

( B )314 If complet power failure should occur while cruising at altitude, the pilot
should
(A)partially lower the collective pitch, close the throttle, then completely
lower the collective pitch. (B)lower the collective pitch as necessary to
maintain proper rotor RPM, and apply right pedal to correct for yaw. (C)close
the throttle, lower the collective pitch to the full-down position, apply left
pedal to correct for yaw, and establish a normal power-off glide.

B4 A2 50:0014787 g0 ¥k A0 5
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( A )315 Select the true statement concerning gyroplane taxi procedures.
(A)avoid abrupt control movements when blades are turning. (B)the cyclic stick
should be held in the neutral position at all times. (C)the cyclic stick should
be held slightly aft of neutral at all times

R4o82%50:0014788 fpe .0 % B¢
( B )316 Which is true with respect to vortex circulation? Not vortex circulation.
(Mhelicopters generate downwash turbulence only. (B)the vortex strengthis
greatest when the generating aircraft is heavy, and slow. (C)when vortex
circulation sinks in to groundeffect, it generating dissipate rapidly offer
little danger.

4o 48%.:0014789 fE e .0 ¥k B %
( A )317 Calibrated airspeed is best described as indicated airspeed corrected for

(A)installation and instrument error. (B)instrument error. (C)Nono-standard
temperature.

4o 88%0:0014790 kw0 ¥ % B %
( B )318 To determine pressure altitude prior to takeoff, the altimeter should be set
to
(A)the current altimeter setting. (B)29. 92"Hg and the altimeter indication noted
(C)the field elevation and the pressure reading in the altimeter setting window
noted.

F4oB8%5.:0014791 A w0 2% B %
(B )319 What altimeter setting is required when operating an aircraft at 18,000 feet
MSL?
(A)Current reported altimeter setting of a station along the route. (B)29.92
" Hg. (C)Altimeter setting at the departure or destination airport.

4o %855:0014792 fE 2.0 ¥k R ¢
( B )320 Which statement is true about magnetic deviation of a compass? Deviation

(A)Varies over time as the agonic line shifts. (B)varies for different headings
of the same aircraft. (C)is the same for all aircraft in the same locality.

B4 42 50:0014793 A0 ¥k &R0 5

(B )32l If a standard rate turn is maintained, how long would it take to turn 3607?
(A1 minute. (B)2 minutes. (C)3 minutes.

R4o8850:0014794 A w0 ¥k B3
( A )322 Which is required equipment for powered aircraft during VFR night flights?

(A)Anticollision light system. (B)Gyroscopic direction indicator.
(C)Gyroscopic bank-and-pitch indicator.

B4eA250:0014795 A0 sk &0 5
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( A )323 If not equipped with required position lights, an aircraft must terminate flight
(A)at sunset. (B)30 minutes after sunset. (C)1 hour after sunset.

B4 %855:0014796 420 ¥4 R %
( A )324 If an aircraft is not equipped with an electrical or anticollision light system,
no person may operate that aircraft
(A)after sunset to sunrise. (B)after dark. (C)1 hour after sunset.

4o d8%.:0014797 R e .0 ¥k B %

( ¢ )325 Aircraft maintenance records must include the current status of the
(Mapplicable airworthiness certificate. (B)annual inspections performed on the
engine. (C)life-limited parts of each airframe, egine, propeller, rotor, and
applicance.

4o 88%50:0014798 A0 ¥k B %
( ¢ )326 A new maintenance record being used for an aircraft engine rebuilt by the
manufacturer must include previous
(A)operating hourse of the engine. (B)annual inspections performed on the engine
(C)changes as required by Airworthiness Directives.

4o 82%0:0014799 A0 ¥k B %
( ¢ )327 Assuring compliance with an Airworthiness Directive is the responsibility of
the
(A)pilot in command and the FAA certificated mechanic assigned to that aircraft.
(B)pilot in command of the aircraft. (C)owner or operator of that aircraft.

f4o88%.:0014800 2220 2% B %
( A )328 When approaching to land at an airport, without an operating control tower,
in Class G airspace, a helicopter pilot should
(A)avoid the flow of fixed-wing aircraft. (B)make all turns to the left, unless
otherwise indicated. (C)enter and fly a traffic pattern at 800 feet AGL.

f4o88%.:0014801 %% .0 % B ¥
( ¢ )329 When a dashed blue circle surrounds an airport on a sectional aeronautical chart,

it will depict the boundary of
(A)special VFR airspace. (B)Class B airspace. (C)Class D airspace.

R4o88%5.:0014802 s .0 % &7
( A )330 To use VHF/DF facilities for assistance in locating your position, you must have
an operative VHF
(A)transmitter and receiver. (B)transmitter and receiver, and an operative ADF
receiver. (C)transmitter and receiver, and an operative VOR receiver.

B 442 50:0014803 A0 ¥ % &0 5
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( A )33l Pilots are required to have the anti-collision light system operating
(Aanytime an engine is in operation. (B)anytime the pilot is in the cockpit.
(C)during all types of operations, both day and night.

B b B2550:0014804 2Ee 0 #5245
( B )332 The "taxiway ending" marker
(A)indicates taxiway does not continue. (B)identifies area where aircraft are
prohibited. (C)provides general taxiing direction to named taxiway.

F4e%855:0014805 4.0 ¥ % R %
( A )333 When planing a night cross—country flight, a pilot should check for
(Aavailability and status of en route and destination airport lighting systems
(B)red en route course lights. (C)location of rotating light beacons.

F4o82%.:0014806 A0 2% B %
( ¢ )334 Light beacons producing red flashes indicate
(A)end of runway warning areas. (B)instructions for the pilot to remain clear
of an airport traffic pattern and continue circling. (C)obstructions or areas
considered hazardous to aerial navigation.

4o 82%5.:0014807 A0 ¥k B %
( A )335 When planning for an emergency landing at night, one of the primary
considerations should include
(A)selecting a landing area close to public access, if possible.
(B)landingwithout flaps to ensure a nose-high landing attitude at touchdown.
(C)turning off all electrical switches to save battery power for the landing.

o 4o82%.:0014808 A0 2% B %
( B )336 After experiencing a powerplant failure at night, one of the primary
considerations should include
(A)turning off all electrical switches to save battery power for the landing.
(B)planning the emergency approach and landing to an unlighted portion of an
area. (C)maneuvering to, and landing on a lighted highway or road.

o 4e4855:0014809 4220 ¥ 5 R %
( ¢ )337 When planning a night cross-country flight, a pilot should check for the
availability and status of
(A)all VORs to be used en route. (B)airport rotating light beacons.
(C)destination airport lighting systems.

432 50:0014810 250 g% B 4
( ¢ )338 To best overcome the effects of spatial disorientation, a pilot should

(Mrely on body sensations. (B)increase the breathing rate. (C)rely on aircraft
instrument indications.

B4e3250:0014811 A0 s’ & %
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( ¢ )339 Which is true with respect to a high-or low-pressure system?
(A)A high-pressure area or ridge is an area of rising air. (B)A low-pressure
area or trough is an area of descending air. (C)A high-pressure area or ridge
1s an area of descending air.

4o %855:0014812 4.0 ¥k R ¥
( B )340 Which is true with respect to a high-or low-pressure system?
(A)A high-pressure area or ridge is an area of rising air. (B)A low-pressure
area or trough is an area of descending air. (C)Both high-and low-pressure areas
are characterized by descending air.

b 385:0014813 2220 g% & . ¥
( B )34l When flying into a low-pressure area in the Northern Hemisphere, the wind

direction and velocity will be from the
(A)left and decreasing. (B)left and increasing. (C)right and decreasing.

4o B8%.:0014814 %% :0 % B ;7
( A )342 Which would decrease the stability of an air mass?
(AM)Warming from below. (B)Cooling from below. (C)Decrease in water vapor.

F4e%855:0014815 4 e .0 ¥ b R ¥
( B )343 Which would increase the stability of an air mass?
(A)Warming from below. (B)Cooling from below. (C)Decrease in water vapor.

F4o88%.:0014816 %520 % B ¥
( ¢ )344 The conditions necessary for the formation of cumulonimbus clouds are a lifting
action and
(Munstable, dry air. (B)stable, moist air. (C)usnstable, moist air.

B 4-3850: 0014817 420 2% R .7
( ¢ )345 Which are characteristics of a cold air mass moving over a warm surface?
(A)Cumuliform clouds, turbulence, and poor visibility. (B)Cumuliform clouds,
turbulence, and good visibility. (C)Stratiform clouds, smooth air, and poor
visibility.
B 442 50:0014818 A0 sk &0 %
( A )346 If airborne radar is indicating an extremely intense thunderstorm echo, this

thunderstorm should be avoided by a distance of at least
(A)20 miles. (B)10 miles. (C)5 miles.

4o 82%0:0014819 2.0 2% B %
( A )347 Which statement is true regarding squall lines?
(A)They are always associated with cold fronts. (B)They are slow in forming,
but rapid in movement. (C)They are nonfrontal and often contain severe,
steady-state thunderstorms.

B4e4250:0014820 A0 2% &0 5
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( ¢ )348 What is an important characteristic of wind shear?
(A)It is present at only lower levels and exists in a horizontal direction. (B)It
is present at any level and exists in only a vertical direction. (C)It can be
present at any level and can exist in both a horizontal and vertical direction.

4o 48%.:0014821 #5e .0 2% B %

(A )349 Winds at 3,000 feet AGL ...30 kts, Surface winds..... Calm while on
approach for landing under clear skies with convective turbulence a few hours
after sunrise, one should
(A)increase approach airspeed slightly above normal to avoid stalling. (B)keep
the approach airspeed at or slightly below normal to compensate for floating.
(C)not alter the approach airspeed these conditions are nearly ideal.

B 4o 4855:0014822 420 ¥4 R %
( A )350 During departure , under conditions of suspected low-level wind shear, a sudden
decrease in headwind will cause
(A)a loss in airspeed equal to the decrease in wind velocity. (B)a gain in
airspeed equal to the decrease in wind velocity. (C)no change in airspeed, but
groundspeed will decrease.

4o 88%.:0014823 k5.0 ¥ % B %
( ¢ )351 Which provides a graphic display of both VFR and IFR weather?
(A)Surface Weather Map. (B)Radar Summary Chart. (C)Weather Depiction Chart.

B 4-3850:0014824 30 2% R %
( ¢ )352 The CG of an aircraft can be determined by which of the following methods?

(A)Dividing total arms by total moments. (B)Multiplying total arms by total
weight. (C)Dividing total moments by total weight.

4o 88%0:0014825 s .0 % B ¥
( B )353 Weight A: 155 pounds at 45 inches aft of datum, Weight B:165 pounds at 145 inches
aft of datum , Weight C: 95 pounds at 185 inches aft of datum , Based on this

information, where would the CG be located aft of datum?
(A)86.0 inches. (B)116.8 inches. (C)125.0 inches.

R4o88%.:0014826 s w0 % B ¥

(B )354 A helicopter is loaded in such a manner that the CG is located forward of the
allowable CG limit. Which is true about this situation?
(A)This condition would become less hazardous as fuel is consumed if the fuel
tank is located aft of the rotor mast. (B)In case of engine failure and the
resulting autorotation, sufficient cyclic control may not be available to flare
properly to land. (C)Should the aircraft pitchup during cruise flight due to
gusty winds, there may not be enough forward cyclic control available to lower
the nose.
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( ¢ )35 What effect, if any, would a change in ambient temperature or air density have
on gas turbine engine performance?
(A)As air density decreases, thrust increases. (B)As temperature increases,
thrust increases. (C)As temperature increases, thrust decreases.

e 38550:0014828 da w0 ¥ 5 B 4
( ¢ )356 What are the standard temperature and pressure values for sea level?
(A)15C amd 29.92 Hg. (B)59°F and 1013.2 Hg. (C)15°C and 29.92 Mb.

4o %855:0014829 fp e .0 ¥k R ¥
( B )357 What type approach should be made to a pinnacle under conditions of relatively
high wind and turbulence?
(A)A normal approach. (B)A steeper-than-normal approach.
(C)Ashallower-than-normal approach.

B 4850:0014830 4200 2% R0 5
( B )358 The pilot of helicopter is often located on which hand side of the helicopter
(A)Left (B)Right (C)Center (D)No answer is correct.

4o 82%.:0014831 A0 2% B %

( D )359 Certain precaution must be observed when moving helicopters with a towbar which
include:
a) sufficient help must be available to view all parts of the helicopter.
b) towing must be accomplished smoothly with no jerky motion.
c) all rotating components must be secured.
d) towbar turning radii must be observed.
Which answer is correct?
(A)Only a, b and ¢ are correct. (B)Only b, ¢ and d are correct. (C)Only a, c
and d are correct. (D)The a,b,c and d are all correct.

R4o88%.:0014832 fe .0 % B ¥
( ¢ )360 Large components on the helicopter are usually provided with what device for
the removal of the component.
(A)Jack points (B)Supporting points (C)Lifting points (D)No device required.

B b B855:0014833 4220 5 2%
( D )36l Bearings are used to carry which loads :
(AM)Thrust loads (B)Rotational loads (C)Oscillating loads (D)All of above three.

B 4-3850:0014834 Hg 0 2% A7
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( B )362 Which is probably the greatest contributing factor to the life of the bearing?
(MMaterial of the bearing. (B)Lubrication of the bearing. (C)Type of the bearing
(D)Location of the bearing on helicopter.

R4o82%50:0014830 fpe .0 2% &7
( ¢ )363 Discoloration of the bearing is always an indication of excessive heat. this
may be caused by
(A)overspeed. (B)improper installation. (C)a lack of lubrication. (D)abnormal
vibration in high frequency range.

B b B8%55:0014836 4220 ¥ 5 2 ¢
(D )364 Gears are used to :
a) transmit power, b) change direction, c) change speed.
(AM)Both a and b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

B b B855:0014837 2.0 ¥ 5 B 7
( D )365 The main rotor system is exposed to many stresses during operation which include:
a) centrifugal, b) vibration, c) twisting, d) flexing
(A)Only a, b and ¢ are correct. (B)Only b, ¢ and d are correct. (C)Only a, c
and d are correct. (D)The a,b,c and d are all correct.

4o 88%.:0014838 A0 2% B %
( B )366 Today the most widely used rotors are the :
(Mrigid and semi- rigid systems (B)semi-rigid and fully articulating systems
(C)rigid and fully articulating systems (D)No answer is correct.

F 4o %8%55:0014839 4 e .0 ¥k B¢
( B )367 The rotor system utilizing the seesaw or flapping axis system is known as
(Mrigid rotor (B)semi-rigid rotor (C)fully articulating rotor (D)rigid and
fully articulating systems

F4e%855:0014840 4220 ¥ b R ¥
( ¢ )368 Lead and lag action is controlled by the use of
(A)an actuator (B)a spring linkage (C)a dampener (D)lead-lag hinge

FheB255:0014841 2220 5 2%
( D )369 Rotor blades may be made of :
a) wood, b) metal, c¢) composite
(AM)Both a and b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

o 4e%855:0014842 fpe .0 ¥k R ¥
( ¢ )370 When the rotor blade is repainted, what procedure will be necessary on the rotor
system?
(A)Power trim (B)Pitch trim (C)Rebalance (D)No procedure required

B4e4250:0014843 g0 2 s Ao
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( A )37l Compare the damage between the root and the outboard portion of blade.
(A)Damage which is near the root of the blade is more critical than at the outboard
portion of the blade. (B)Damage which is near the outboard portion of the blade
is more critical than at the root of the blade. (C)Damage which is near the root
of the blade is as the same as at the outboard portion of the blade. (D)Damage
which 1s near the root of the blade is less critical than at the outboard portion
of the blade.

F4ek855:0014844 4.0 $ps B¢
( B )372 The rotor head is highly stressed unit and often contains what items:
(A)expensive items (B)time change items (C)balance items (D)repair items

4o B8%.:0014845 32w .0 5 B ¥
( D )373 Special inspections of the rotor system are required in the event of
a) overspeed, b) sudden stoppage, c¢) hard landings.
(A)Only c is correct. (B)Bothband ¢ are correct. (C)Both a and ¢ are correct.
(D)AIl a, b and c are correct.

4o 88%5.:0014846 s w0 5 B ¥
( B )37 When removing a rotor head, one procedure is often necessary on the pitch change
in order to prevent damage during removal. The procedure is :
(A)Protected by special cover. (B)Locked by special holders. (C)Lubricated by
special lubricant. (D)No procedure required

4o B85.:0014847 A0 ¥k B %
( ¢ )37 Removed rotor blades should always be stored in where in order to prevent damage
during storage.
(A)ground (B)long table (C)blade racks (D)All answers are correct

Fo4e%8%55:0014848 4g w0 ¥ s R ¢
( A )376 Blade alignment established the correct relationship of which ?
(A)the center of gravity and the center of pressure (B)the center of gravity
and the center of blade spanwise (C)the center of gravity and the center of blade
chordwise (D)No answer is correct.

R4 48%.:0014849 %50 2% B %
( ¢ )377 Semi-rigid rotors will require which static balance.
(A)Only chordwise static balance. (B)Only spanwise static balance. (C)Both
chordwise and spanwise static balance. (D)No static balance required.

o 4o88%.:0014850 %5 w0 % B ¥
( B )378 On some rotor systems, chordwise balance is obtained by moving one blade to which

way of the alignment point.
(A)fore (B)aft (C)inboard (D)outboard

o 4e%855:0014851 fp ke .0 ¥k R ¥
( ¢ )37 What is the major contributor to component deterioration?
(A)Overspeed (B)Overload (C)Excessive vibration (D)Imbalance
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(D )38 What condition is the cause of vibration on rotation components?
(A)Overspeed (B)Overload (C)Improper installation (D)Imbalance

482 %50:0014853 A0 ¥k B %
(D )381 In helicopters, vibrations are classified into which groups?
a) very low frequency b) low frequency
c) medium frequency d) high frequency
e) very high frequency vibrations.
(A)Only a, b and c are correct. (B)Only b, ¢ and d are correct. (C)Only b, c,
d and e are correct. (D)Only a,b,c and d are correct.

F4o88%.:0014854 %E w0 g% B %
( ¢ )382 In nature, rotor vibration may either be:
(AMvertical (B)lateral (C)vertical and lateral (D)No answer is correct.

B 448 50:0014855 gl (0 ¥k B o ¢
( ¢ )383 Lateral vibration is usually associated with which condition of the rotor?
(A)Overspeed (B)Overload (C)Imbalance (D)Lack of lubrication

4o 88%.:0014856 s w0 % B¢
( D )384 The methods which may be used for tracking are:
a) stick method b) flag method
c) light reflector method d) pre-track method
e) electronic strobe method
(Ma, b and c are correct (B)a,b,c and d are correct (C)a, b, c and e are correct
(D)a, b, ¢, d and e are all correct

4o B8%5.:0014857 A0 ¥k B %
( ¢ )38 During initial tracking, the trim tabs should be placed in which position?
(A)Upward (B)Downward (C)Neutral (D)No answer is correct.

4o 88%5.:0014858 s e .0 % &7
( ¢ )386 Most fully articulated rotors use dampeners to control movement about which axis

of the rotor blades.
(AM)Vertical (B)Horizontal (C)Lead lag (D)Longitudinal

B 3850:0014859 4500 2% R0 5
( ¢ )387 A faulty dampener will cause which condition of the rotor by the blade seeking

the wrong position.
(A)Overspeed (B)Overload (C)Imbalance (D)Overheat

F 432 50:0014860 25w 0 g% B 4
( B )38 If the autorotation speed is in what condition, the retreating blade stall may

occur.
(A)too slow (B)too fast (C)overspeed (D)overload
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(A )38 If the autorotation speed is in what condition, the lift developed will not

support the helicopter.
(A)too slow (B)too fast (C)overspeed (D)overload

B 4e3250:0014862 2 w0 s &0 ¢
( B )390 The autorotation rpm is affected by :

a) a gross weight of the helicopter b) power rpm
c) density altitude d) temperature
altitude

(A)Bothaand b are correct. (B)Both a and ¢ are correct. (C)Bothb and ¢ are
correct. (D)Both ¢ and d are correct.

B4 %855:0014863 420 ¥4 R %
( ¢ )391 The mast usually absorbs which kinds of load?
(A)torsional load (B)tensional load (C)torsional and tenional load (D)The mast
doesn’ t absorb any kind of load.

B4 4855:0014864 42w .0 ¥4 R %
( A )392 The stabilizer bar required which kind of balance in order to insure a smooth
operation.
(A)Static balance (B)Dynamic balance (C)Static and Dynamic balance (D)No balance
required

4o 88%5.:0014865 A w0 ¥k B %
( A )393 A dampener which is in what condition will result in an over stable helicopter
with delayed control response.
(A)too soft (B)too hard (C)neutral (D)any condition

R4e48%.:0014866 28 e .0 ¥k B %
( B )394 A dampener which is in what condition will result in an unstable helicopter with

delayed control response.
(A)too soft (B)too hard (C)neutral (D)any condition

B b B255:0014867 B2 0 ¥ 5 RS
( ¢ )39%. Cyclic control movement require the rotor to tilt: a) Left, b) Right, c) Fore,
d) Aft, e) Up, f) Down
(A)Both a and b are correct. (B)Both c and d are correct. (C)a,b,c and d are
correct. (D)a,b,e and f are correct.

B4 %8%55:0014868 4.0 ¥ s R %
( B )39% On reciprocating engine helicopters, the collective has a twist grip which
controls:
(A)the direction of helicopter (B)the throttle of engine (C)the altitude of
helicopter (D)the flight speed of helicopter

B 442 50:0014869 A0 sk & 5

46



( ¢ )397 Many of the newer filtering systems have what device to indicate when the filter
1S bypassing.
(A)Pressure indicators (B)Pressure gauges (C)Warning buttons/indicators
(D)Warning lights

F 4o B8%.:0014870 %82 :0 ¥ % B : %
( ¢ )398 High usage of hydraulic fluid is an indication of what condition?
(A)Overheat (B)Overpressure (C)Leakage (D)Normal

4o %855:0014871 fp e .0 ¥k R ¥

( B )399 a) Before filters changing, the system must be checked under pressure for filter
leaks.
b) When filters are changed, the system must be checked under pressure for filters
leaks.
c) When filters are changed, the system must be checked without pressure for
filters leaks.
Which description is correct?
(A)a is correct (B)b is correct (C)c is correct (D)No answer is correct.

4o %855:0014872 420 ¥4 R 2
( D )400 On most helicopters, the cyclic control system is rigged with the cyclic stick
in which position.
(A)Fore end (B)Aft end (C)Either left end or right end (D)Neutral

b 280014873 g0 ¥ 5 B¢
( B )401 Rotors cannot operate at engine rpm because of :
a) Materials of the rotors
b) Rotor tip speed
c) Retreating blade stall
(A)Both a and b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

4o B8%.:0014874 A0 2% B %

( A H402 a) Transmissions are used to reduce engine speed in order to be compatible with
rotor speeds.
b) Transmissions are used to increase engine speed in order to be compatible
with rotor speeds.
¢) Transmissions are used to reduce rotor speed in order to be compatible with
engine speeds.
d) Transmissions are used to increase rotor speed in order to be compatible with
engine speeds.
Which statement is correct?
(A)a is correct (B)b is correct (C)c is correct (D)d is correct

B4 A2 50:0014875 A0 sk & 5
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( B )403 A drive shaft system is used on some helicopters between which parts of the
helicopter. When drive shafts are used, they often incorporate a clutch with
the drive shaft.

(A)Engine and Rotor (B)Engine and Transmission (C)Transmission and Rotor (D)No
answer 1s correct.

F 4 %855:0014876 fE e .0 ¥ b R ¢
( B )404 What device i1s necessary to unload the engine during starting because of the
forces required to move the rotor.
(A)The free wheeling unit (B)The clutch (C)The pitch change unit (D)The swash
plate assembly

4o %855:0014877 fp e .0 ¥k R ¥

( B )405 a) The free wheeling unit allows the transmission to drive the rotor but prevent
the rotor from driving the engine.
b) The free wheeling unit allows the engine to drive the transmission but prevent
the rotor from driving the engine.
¢) The free wheeling unit allows the rotor to drive the transmission but prevent
the rotor from driving the engine.
d) The free wheeling unit allows the engine to drive the transmission but prevent
the transmission from driving the rotor.
Which statement is correct?
(A)a is correct (B)b is correct (C)c is correct (D)d is correct

Fo 4o 88%.:0014878 ka0 ¥ % B %
( B )406 The operation of the free wheeling unit is always :
(AMManual (B)Automatic (C)Manual or Automatic (D)Manual and Automatic

B4 %855:0014879 420 ¥4 R 2
( B )407 Regardless of the location of the free wheeling unit, which rotor must rotate
during autorotation.
(AM)Main rotor (B)Tail rotor (C)Main and Tail rotor (D)No answer is correct.

o 4e%855:0014880 {0 ¥k R ¥
( ¢ )408 In the hydro mechanical clutch, which unit makes a mechanical coupling when rotor
rpm 1S obtained.
(A)Transmission unit (B)Drive unit (C)Free wheeling unit (D)No answer is
correct.

o 4e%855:0014881 fpie 0 ¥k R ¥
( C )409 a) The sprag unit is the most common free wheeling unit in use.
b) The sprag unit allows movement to be transmitted in both direction.
c) The oil for lubrication of the sprag unit is supplied by the transmission.
Which statement is correct?
(AM)Both a and b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.
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( A )410 Some helicopters have a rotor brake located between which part of the helicopter?
(A)Engine and Transmission (B)Transmission and Main Rotor (C)Transmission and
Tail Rotor (D)Engine and Rotor

B b 88%55:0014883 420 5 B 4
( D )41l The rotor brake is used to?
(A)Stop the rotor before engine start. (B)Stop the rotor before engine shutdown
(C)Stop the rotor after engine start. (D)Stop the rotor after engine shutdown.

4o 88%.:0014884 3w :0 5 B ¥
( B )412 Most operators limit the use of the rotor brake because of what factors of the
brake unit?
(A)Temperature (B)Wear (C)Material (D)All answers are correct

F 4o %855:0014885 fg e .0 ¥k B¢

( B )413 a) Without the rotor brake, the inertial of the main rotor will continue to move
the main rotor after engine starting.
b) Brake units are normally attached to the input to the transmission.
c) The brake may be either hydraulically or manually operated.
Which statement is correct?
(A)Both a and b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

o 4o88%.:0014886 s w0 % B ¥

( A )414 a) During starting, the engine rpm will be ahead of the rotor rpm until the clutch
1s fully engaged.
b) During starting, the rotor rpm will be ahead of the engine rpm until the clutch
1s fully engaged.
c) During starting, the engine rpm will be ahead of the rotor rpm until the clutch
1s fully disengaged.
d) During starting, the rotor rpm will be ahead of the engine rpmuntil the clutch
1s fully disengaged.
Which statement is correct?
(A)a is correct (B)b is correct (C)c is correct (D)d is correct

B 442 50:0014887 g0 s Ao
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( D )415 a) The free wheeling unit is inoperative, the helicopter would have problems
with autorotation.
b) The wheeling unit is checked during pre-flight run up with the use of the
tachometer.
c) Some free wheeling units carry their oil supply which requires servicing.
Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

F 4 %855:0014888 4.0 ¥4 R %

( ¢ )416 a) Transmissions are usually mounted of semi-flexible mounts in order to dampen
vibration.
b) In addition to the requirement of the mount to have flexibility, it must also
carry the weight of the helicopter and absorb the torsioinal loads of the rotor
mount.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

F4o82%.:0014889 s w0 2% B ¥
( A )47 a) The threaded rod ends of the sprag mount are used to align the mast.
b) Incorrect ad justment of the sprag system can affect the ground characteristics
and cause abnormal vibrations.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

F4o88%.:0014890 s w0 2% B ¥
( D )418 a) The inner ring of the free wheeling unit acts as a free gear while the engine
1s driving the rotor.
b) When the rotor is driving, the inner ring acts as a fixed gear.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

R4e48%.:0014891 %5 e .0 2% B %

( ¢ )419 a) Transmissions built today separate the engine oil system from the transmission
o1l system.
b) 0il temperature is always a good indicator of the condition of the
transmission.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B4e4250:0014892 A0 sk & 5
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( D )420 The accessory drive gear turns the following:
a) transmission oil pump
b) hydraulic pump
c) rotor tachometer.
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

R4o82%50:0014893 fpe .0 2% B ¥
( ¢ )421 a) Oil from the pressure pump goes to the oil cooler.
b) 0il bypasses the oil cooler when the oil temperature is too high.
c) The oil cooler blower is powered by the main drive shaft.
Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

4o 82%.:0014894 A0 2% B %

(D )422 a) The operator’s manual is sometimes referred to as the flight manual.
b) The first section of the operator’ s manual contains the helicopter operating
limitations.
¢) The second section of the operating manual would contain procedures.
Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Botha and ¢ are
correct. (D)All a, b and c are correct.

F4e%855:0014895 4 e .0 ¥k R ¥
( D )423 a) Increasing the maximum speed is one method of increasing the horsepower.
b) All reciprocating engines require a fan for cooling.
¢) Main rotor usually operate at a constant rpm.
Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

R4e48%.:0014896 %50 2% B %
( A )424 a) On helicopter installations, the engine power is controlled in order to
maintain the rotor rpm.
b) Low rpm for idle is required on helicopter installations.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B b B8%55:0014897 220 5 R 4
( D )425 Vibration from the cooling fans is usually felt as a buzz because of ?
(A)Very low frequency (B)Low frequency (C)Medium frequency (D)High frequency

B 442 50:0014898 Ag e 0 #p s Ao
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( ¢ )426 a) The twist grip of collective is similar to those used on motorcycles except
the action is in the opposite direction.
b) The decrease position of the twist grip is towards the thumb as the hand grips
the collective.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

4o 48%.:0014899 220 ¥k B %
( A )427 a) Replacement of the engine will require rerigging the correlation system.
b) Collective rigging will not affect the correlation rigging.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

F4e%8%55:0014900 f2 2.0 ¥ % R %
( B )428 a) The fine adjustments are made to the correlation rigging before the test
flight.
b) The fine ad justments are made to the correlation rigging after the test flight.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

o 4o82%.:0014901 A0 2% B %
( ¢ )429 The turbines used in helicopters are referred to as:
a) Turbo jet
b) Turbo fan
c) Turbo shaft
(A)a is correct (B)b is correct (C)c is correct (D)No answer is correct.

f4o88%5.:0014902 2.0 ¥k B %

( ¢ )430 a) The turboshaft engines usually contain a gear reduction to reduce turbine
speed.
b) Turboshaft engines are further classified as direct shaft turbines or free
shaft turbines.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B 4-38%50:0014903 40 2% R .7
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( A )431 a) The free turbine delivers power from a turbine not connected to the compressor.
b) The direct drive turbine engine turns at the same speed as the turbine because
they share a common shaft.

Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

4o 88%.:0014904 32w .0 % B ¥
( A )432 a) Most of the helicopter turbines, today, use a compressor which is a combination
of axial and centrifugal compressors.

b) The first portion of the compressor will be centrifugal and the last stage
1s axial.

Which statement is correct?

(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

o 4o82%50:0014900 A w0 2% B %

( ¢ )433 a) Each stage of the axial compressor is made up of one stator and one rotor.
b) The rotor increases the velocity of the airflow and the stator develops the
pressure.

Which statement is correct?

(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

4 4850:0014906 2520 % B 4
( A )434 a) Air entering the combustor is used to support combustion and cooling purposes.
b) Air entering the combustor is used to support combustion purposes only.

c) Air entering the combustor is used to support cooling purposes only.
Which statement is correct?

(AMa is correct (B)b is correct (C)c is correct (D)No answer is correct.

B 442 50:0014907 g0 2 s A0

( C )435 a) Power is measured by the manifold pressure gauge on reciprocating engines.

b) The power output of turbine is measured by a torquemeter on turboshaft engines.
Which statement 1s correct?

(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B 442 50:0014908 A0 ¥ 20 5
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( A )436 a) On free turbines, two tachometers are used: one reads compressor speed and
the other reads power turbine speed.
b) The tachometers used on turboshaft engines often reads in percent of minimum
rpm.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

R4e48%.:0014909 2520 2% B %
( A )437 a) Free turbines often operate with different readings on the NI and N2

tachometers.
b) During ground operation, the compressor tachometer will read higher than the
power turbine tachometer.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

F4o82%.:0014910 s 2.0 2% B ¥
( D )438 The EGT gauges is carefully monitored during:
a) Starting
b) Takeoffs with heavy loads
c) High ambient temperatures
(A)Both a and b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

e 38550:0014911 w0 35 B ;7
( B )439 Most helicopters require a particle separator on the inlet of the turbine engine.

The particles move to the outside of the filter by which force?
(A)Inertial (B)Centrifugal (C)Accelerated (D)Torsional

4o %855:0014912 420 ¥k R ¥
( A )440 a) The particle separator is usually open.
b) The particle separator automatically closes when the N1 rpm increases above
certain percent of rpm and fire extinguisher handle is pulled.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

R4e88%0:0014913 2520 2% B %
( ¢ )441 a) Damage to the compressor may be the result of foreign object damage and
erosion.
b) Nicks and scratched can lead to compressor blade failure.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B4e4250:0014914 20 2% & 5
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(B )442 a) A dirty compressor will result in low operating temperatures.
b) Blockage of the airflow to the engine can result in stall and flame out of
the engine.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

4o 88%.:00149150 %% :0 5 B 7

( ¢ )443 a) To assist in acceleration time, most turbo shaft engines use one of the bleed
valves, bleed ports and variable stators systems.
b) These systems unload the turbine during acceleration.
c) All of these systems are usually operated by the fuel control and air pressure
ratio.
Which statement is correct?
(A)Both a and b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

B4 %855:0014916 4220 ¥ 5 R %
( C )444 a) Most of the helicopter engines utilize an annular combustor with reverse flow.
b) Most turbine engines deactivate the ignition once the engine 1S running.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

4o %855:0014917 fE 2.0 ¥k R ¥
( B )445 Which statement is correct?
(A)The airflow and fuel flow system are in operation prior to ignite to the
combustor. (B)The airflow and ignition system are in operation prior to fuel
flow to the combustor. (C)The ignition and fuel flow system are in operation
prior to air flow to the combustor. (D)No answer is correct.

4o 4855:0014918 fpie:0 ¥k R ¥

( B )446 a) When collective is raised, the governor senses an under speed condition which
demands less fuel.
b) When collective is raised, the governor senses an under speed condition which
demands more fuel
c) When collective is raised, the governor senses an over speed condition which
demands more fuel.
Which statement is correct?
(Ma is correct (B)b is correct (C)c is correct (D)No answer is correct.

B4eA250:0014919 A0 sk & 5
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( C )447 a) Most ignition systems are high capacitance discharge systems.
b) Many ignition systems have an automatic relight device in case of flame out.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B4 4855:0014920 4220 ¥4 R %
( ¢ )448 The purpose of the variable inlet guide vanes is to change what characteristic

of the air entering the compressor?
(A)Speed (B)Pressure (C)Angle of attack (D)Temperature

R4e48%.:0014921 2520 2% B %
( c )449 a) The fuel control lever of helicopter is positioned by the twist grip.
b) The basic positions of the twist grip are cut-off, ground idle and full open.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B b B855:0014922 2220 ¥ 5 R 4
( B )450 TOT is the abbreviation for?
(A)Total Outlet Temperature (B)Turbine Outlet Temperature (C)True Outlet
Temperature (D)No answer is correct.

F4e%855:0014923 420 ¥k B¢
( ¢ )451_a) The manual fuel control unit is controlled by the power control lever.
b) The automatic fuel control established the fuel schedule in response to the
power requirements.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

R4o88%.:0014924 35w .0 % B¢

( ¢ )452 a) Many turbine powered helicopter have an engine out warning system. this system
usually has a light and horn when NI deteriorates.
b) The life of a turbine is based on the hours of operation and the cycles of
the engines.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B4e4250:0014925 g0 #ph A0
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( ¢ )453 a) Misalignment between the engine and transmission will shorten the short shaft
life.
b) Alignment is usually accomplished by shimming the engine mount.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

4o 88%2:0014926 32w .0 5 B ;¥
( ¢ )454 a) Helicopters using a lever arrangement for N1 speed normally have three
operating positions. These are : Ground idle, Flight idle and Full NI.
b) On direct shaft turbines, no linkage connects the collective and fuel control.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B4 4855:0014927 4200 ¥ E R A
( D )455 The functions of the twist grip of the collective are:
a) shut off valve b) idle speed
c¢) full automatic power d) emergency power control
(A)a, b and c are correct (B)b, c and d are correct (C)a, b and d are correct (D)a,
b, ¢ and d are all correct

f4o88%.:0014928 250 ¥k B %
( ¢ )456_a) Tail rotors must use some of the same features which are found in main rotors
which include pitch change and blade flapping.
b) Tail rotor blades have negative and positive pitch.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

4o82%0:0014930 s .0 % B ¥

( A )457 a) Alignment of the tail rotor shafting is important because of vibration.
b) The tail rotor gear box may be used to increase or decrease speed for the
tail rotor.
c¢) The main rotor always turns faster than the tail rotor.
Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

B 4-3850:0014931 40 2% A7
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( ¢ )458 a) The impending failure of a bearing will always be indicated by a rise in
temperature of the bearing package.
b) Bearing failures of the tail rotor system are always accompanied with low
frequency vibration.
c) Enclosed shafts often use heat sensitive stickers as a warning device.
Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.

4o 88%.:0014932 42w :0 5 B 7

( A )459 a) Particular attention to the ends of the drive shafts should be taken during
inspection to check the pins, rivets and bonding.
b) Misalignment of the tail rotor shafting will cause vibration levels to
decrease.
¢) Runout checked of the tail rotor shafting is done with the shafting removed
from the helicopter.
Which statement is correct?
(A)Only a is correct. (B)Bothband ¢ are correct. (C)Both a and ¢ are correct.
(D)A1l a, b and c are correct.

o 4o82%.:0014933 A0 2% B %

( C )460 a) Many parts of the tail rotor are assigned a finite life due to the stresses
placed on them.
b) Tail rotor on newer helicopters often require no lubrication due to the use
of electrometric and sealed bearings.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B 4-38%50:0014934 fg 20 2% R .7

( ¢ )461 a) The tail rotor will require static balance and dynamic balance in the field.
b) The placement of weight in other than authorized locations on the tail rotor
would be dangerous.

Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

B4 A8 50:0014935 A0 s 20 5
( ¢ )462 The vibration problem of the tail rotor can often be isolated to the drive system

or pitch change system by moving which control?
(A)Collective (B)Cyclic (C)Pedals (D)No answer is correct.

B 442 50:0014936 A0 sk & 5
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( B )463 a) All static balancing must be accomplished in an opened room in order to insure
accuracy.
b) The greater accuracy in the static balance, the less dynamic balance problems
will occur.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

4o 88%.:0014937 220 ¥k B %
( ¢ )464 a) The structure of helicopters varies from fixed wing aircraft because of the
load and stress locations.
b) The helicopter has both the thrust and lift acting on the same point.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.

F 4o %855:0014938 4 e .0 ¥k B¢

( A )465 The wheel and skid gear have advantages and disadvantages which are:
a) wheel gear is difficult to maintain.
b) wheel gear is difficult to ground handle.
c) skid gear is more complex.
d) skid gear simplifies ground handling.
Which statement is correct?
(A)Only a is correct. (B)Bothaandb are correct. (C)All a, b, c and d are correct
(D)A1l a,b,c and d are incorrect.
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(D )466 The tail boom has the following items attached:
a) tail rotor gearbox.
b) drive shafting.
c) vertical fin.
d) horizontal stabilizer.
(A)Both a and c are correct (B)b,c and d are correct (C)a,b and d are correct
(D)a, b, c and d are all correct
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( C )467 a) Structure repair information may be found either in the maintenance manual
or in a structural repair manual.
b) Jigs are often necessary for major repairs because of alignment.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.
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( ¢ )468 a) Hard landings often require special inspections of the structure.
b) Hard landings may also result in damage to rotating components.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.
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( A )469 a) Sudden stoppage of the main rotor is defined as sudden deceleration of the
rotor after contact with an object.
b) Sudden stoppage forces can not be transmitted throughout the airframe and
rotating components.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.
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( ¢ )470 a) Cargo hooks are used when external loads are carried by the helicopter.
b) The cargo hoist has both a manual and electric release.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.
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( ¢ )471 a) Many turbine powered helicopters utilize a system in which two Ni-Ca batteries
are used during starting.
b) Most helicopters which make over water flights will be equipped with floats
for emergencies.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.
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( ¢ )472 a) The 1ift is increased with the angle of attack until the stall angle is reached.
b) Lift will not vary with the density of the air.
c) Air density is affected by temperature, altitude and humidity.
Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.
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( C )473 a) A helicopter is often capable of hover at sea level but not at high altitude.
b) On a cold day more power is required to maintain lift than on a hot day.
c¢) The heavier the helicopters, the greater will be the pitch angle and power
requirement to hover.

Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.
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( B )47 a) Centrifugal is the force moving the helicopter in the desired direction.
b) Thrust must be greater than drag in order to move the helicopter.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.
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( B )47 a) Pitch change may be accomplished by the movement of the cyclic control.
b) The movement of pitch change changes the pitch of each rotor blade as equal
amount.
¢) The movement of each individual blade is accomplished by the collective
control.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Both a and ¢ are correct. (D)All
a, b and c are correct.
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(D )476_a) The speed at which the rotor moves through the air is not the same on all
parts of the rotor.
b) The fastest portion of the rotor is at the tip of the rotor blade and the
slowest portion is at the root.
c) The slower portion of the blade has a greater angle of attack built into the
blade than the faster portions.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Both a and ¢ are correct. (D)All
a, b and c are correct.
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( D )477 a) The difference in lift produced by the rotor disc is referred to as dissymmetry
of lift.
b) In order to correct for the difference in 1ift, the rotor must be provided
with a flapping hinge on some rotor systems.
c) Two bladed rotors often use the seesaw systems to correct for dissymmetry
of lift.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Both a and ¢ are correct. (D)All
a, b and c are correct.
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( A )478 a) Ground effect occurs when the helicopter is within one half of the rotor
diameter from the ground.
b) During ground effect, the air becomes less dense and forms an air cushion
under the helicopter.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.
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( C )47 An airfoil may stall due to:
a) insufficient airspeed
b) too small of an angle of attack
c) heavy wing load
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)The a,b and c are all correct.
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( ¢ )480 When a stall is experienced, one should :
a) reduce forward speed
b) increase pitch of the rotor
¢) increase rotor speed
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)The a,b and c are all correct.
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( ¢ )481 a) During normal operation, the airflow through the rotor is in a downward
direction.
b) During autorotation, the airflow is in an upward direction.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.
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( ¢ )482 a) During autorotation, the rotor rpm must be controlled.
b) During autorotation, the greatest amount of 1ift may be produced in a flare
with the cyclic moved aft.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.
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( D )483 Ground resonance can be aggravated by :
a) one wheel landings
b) slope landings
c) a flat strut or tire
(A)Both a and b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)The a,b and c are all correct.

o 4e88%.:0014957 A0 ¥k B %
( D )484 The basic controls that are used to control flight of helicopter are :
a) cyclic
b) collective
c) anti-torque pedals
(AM)Both a and b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)The a,b and c are all correct.
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( ¢ )485 a) The cyclic control is used to tilt the tip path plane of each individual rotor
blade.
b) The tilt is accomplished by changing the pitch of each individual rotor blade.
Which statement is correct?
(A)Only a is correct. (B)Only b is correct. (C)Bothaand b are correct. (D)Both
a and b are incorrect.
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( B )486 a) The anti-torque pedals change the rpm of the tail rotor.
b) The highest positive pitch of the tail rotor is required during take off.
¢) In addition to torque correction, the tail rotor pitch is used for directional
control.
Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and ¢ are correct.
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( D )487 a) The maintenance manuals are written in two basic formats which are: ATA system
and the manufacturer’s format.
b) Using the ATA system, each system is assigned a number representing a section
of the manual.
c) The ATA system uses a digit system to cover each Chapter, System and Subject.
Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.
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( A )488 a) Service Bulletins contain additional information regarding the maintenance
of the helicopter.
b) Service Bulletins are usually the direct result of field problems or
improvements as required by such problems.
c) Service Bulletins often become Airworthiness Directives if the matter is
considered not serious.
Which statement is correct?
(A)Bothaand b are correct. (B)Both b and ¢ are correct. (C)Both a and ¢ are
correct. (D)All a, b and c are correct.
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